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(22 +6)(2x —6) | (z —4)? 2z +9)2x—9) | (z+6)(z—6) (x —3)2
(z+7)? (x —8)? 2z +1)2z—1) | (z—5)2 (z +9)?
2z +8)22—8) | (z+8)(z—8) Qz+4)2z—4) | (@+1)(z-1) (z+3)(z — 3)
(x —17)? (v —9)? (2z+3)(2z—3) | (z+5)? (z —1)2
2z +2)(2x —2) | (z+2)? (r —2)2 Rz +72z -7 | (z+2)(z—2)
(x —5)? 2z +7)2z—-17) | (z+2)? (z+1)(x —1) (22 +2)(2z — 2)
(z+1)? (z +3)? (x4 5)(z —5) (z —6)? (x4 6)(z—6)
(z — 4)2 (z —1)2 2z +6)(2z —6) | (x+8)? (z +9)2
2z +5)2x—5) | 2z +92x—-9) | (x—-17)2 (z +5)? (x4 3)(z — 3)
(z —9)? (z+7)(z—7) (z — 3)? (z + 4) (x+7)
(z+6)? (z +6)(z — 6) (x4 4)(z — 4) (z +8)? (z —5)?
(z +2)(z —2) 2z +1)2z—1) | (z+7)? (z+1)? (v — 4)2
(x4 9)(z —9) 2z +4)(2x —4) | (z—7)? (r —6)2 (22 + 6)(2z — 6)
(z +3)(x —3) (z+1)(z—1) (x — 1) (z +3)? (z+2)?
2z +2)(2z —2) | (z+8)(z—28) (2z+5)(2z —5) | (x—2)? (x4+T7)(xz—T7)
(z + 8)? (x —1)2 (x+9)? (x —8)2 2z +1)(2z — 1)
e+ 72z —17) | (x+5)? (x+9)(z —9) (z +2)* (z+7)>
(z +4)(z — 4) (z+1)(z — 1) 2z +8)22—8) | (z—7)2 (z — 9)?
(z +5)(z — 5) Qz+4)2z—4) | @z+5)@2z-5) | @z+3)22-3) | @+70)=-7)
(z+6)(z —6) (x +2)(z —2) (x —6)2 (22 +2)2z —2) | (x+3)(z —3)
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(x —7)? (z + 3)2 (2z4+1)2z—1) | (z+9)? (z + 6)?

(z +2)? (x —2)? 2z +9)(2x—9) | (z—1)2 (z+7)?

2z +2)(2z —2) | (z—8)? (z+1)? (z +5)2 (x — 4)2

(z +4)(z — 4) @z+5)22-5 | @+D)@-1) 2z +8)22-8) | (z+3)(x—-3)

(z +8)(z — 8) 2z +6)(2z —6) | (z—5)? (z +8)2 (x —6)2
(x —6)2 (z +4)* (x —17)2 (z + 3)? (2z +2)(2z — 2)
(z +8)(z — 8) (x —2)? (z +2)? (22 +8)2z—8) | (z+9)(z—9)
(2z+5)(2z —5) | (x+9)? (z+1)? (z —4)? (22 +4)(2z — 4)
(x+7)(z—T7) (z+2)(z—2) (z +8)2 (22 4+9)2z—9) | 2z +1)(2z 1)
(z — 3)? (z+7) (z — 8)? (z +5)* (z+3)(z—3)
(. +2)(z—2) (z4+7)(z—7) (x+7)2 (z — 3)? (z —2)?
(z — 5)2 (z+1)2 2z +2)2z—2) | (z+3)? (z + 8)2
2z4+1)2z—-1) | (z+6)? (z +4)? (22 4+9)(2z —9) | (22 +8)(2z —8)
(x4 8)(z —8) (xr—1)2 (v +4)(x — 4) 2z +7)2x—17) | (z+5)?
(z +9)? 2z +3)(2x —3) | (z—8)? (v —4)2 (z +2)
(z +6)? (2z+5)(2z—5) | 2z +8)(2z-8) | (x—5)? (z +4)?
(z+7)> 2z +3)2x—-3) | 2z +9)(2z—-9) | (x+6)(x—6) (x4 2)(z —2)
(x —6)2 (v +3)2 r+2)2x—-2) | Qz+7)2z—-7) | (z+8)(z—28)
(z +2)* (x+1)(x—1) (z +9)> (x+9)(x—9) (x —1)2
(x+7)(x—7) (z +5)(z — 5) (v — 4)? (x —17)? (2z +4)(2z — 4)
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(x—1)2 (x+7)(x—T7) (x+9)(z—-9) (z —8)? (x —2)2

2z +4)(2x —4) | (z+8)? (r —6)2 2z +8)(2x —8) | 2z +1)(2z—1)
(z +5)(z — 5) (z +9)? (x — 4)2 (z + 8)(x — 8) (22 +5)(2z — 5)
(x —3)? (z +5)? 2z +7) 2z —17) | (z+3)? (2z +9)(2z — 9)
(z +2)? (x —9)2 (x+7)2 (x4 1)(z—1) (2z + 3)(2z — 3)
2z +7)2x—17) | (z—2)? (x+1)(z—1) (z+1)* (x —5)?

(z + 6)(x — 6) (z —8)? (z —1)? (z — 6)? (z+3)(z—3)
(z +6)2 2z +6)2x—6) | (z+9)(z—9) 2z +3)2x—3) | 2z +9)(2z —9)
(22 4+5)(2x —5) | (z+3)? (x —7)2 (z+7)? (22 4 4)(2z — 4)
2z +1)(2z—1) | (x—4)? (x —9)2 (z +9)? (2z +2)(2z — 2)
(x+7)(x—1) (z +2)(x —2) (2z+6)2z—6) | (z+1)(z—-1) (z +5)>

(z —2)? (z+5)(z —5) (z — 5)? (z —9)? (z+2)?

(x +9)(z —9) (2z+9)2z-9) | (v —8)? (z + 8)? (2z + 3)(2z — 3)
(x —17)2 e +7)2x—7) | (z+6)? 2z +5)(2z —5) | (z+3)2

(x4 8)(z — 8) (z + 3)(z — 3) (v —4)? (z+1)? 2z +1)(2z — 1)
(x —2)2 2z +1)2zx—-1) | (z+2)(z—2) 2z +2)(2z —2) | (2z+3)(2z — 3)
(z + 6)? 2z +8)2z —8) | (z+4)(z —4) (x —17)2 (z+1)>

2z + 72z —17) | (x+5)? 2z +9)(2z—9) | (x+8)? (r —6)2

(22 +5)(2z —5) | (z —9)? (z + 8)(z — 8) (z +9)* (x—1)2
Qz+4)2z—4) | @+9)(z-9) (z + 4)2 2z +6)22—6) | (z+3)(z—3)
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(v — 8)? (x —5)? (x+7)(z—T7) (2z+5)(2z —5) | (z+8)(x —8)
(z+1)? 2z +9)2z—9) | (z+5)(z—5) (z +9)? (x —3)?

(r —6)2 2z +1)2x—1) | (z+2)? (v +4)(z — 4) (2z + 6)(2z — 6)
(z — 4)2 (z+9)(z — 9) (z —9)2 (z + 3)2 (22 + 8)(2z — 8)
(z +4)? 2z +2)2x—2) | (z+6)(z—6) 2z +7)2x—7) | (z+3)(z—3)
(z +8)? (z+1)(xz—1) (z —8)? (x+7)(x—7) (z+5)?

(z +8)(z — 8) 2z +1)(2z—1) | (z+9)? (22 +5)(2z —5) | (z+2)?

2z +4)(2z —4) | (z—9)? (v — 4)? (22 +9)(2x —9) | (z+6)(z—6)
(v —5)2 (z +2)(x —2) 2z +8)(2z —8) | (x—7)? (z +3)(z — 3)
(z +3)* (z +1)? 2z +2)2x—2) | 2z +6)2x—6) | (x+7)?

(x4 2)(z —2) (22 +8)(2z —8) | (z—3)? (2z+2)2z-2) | (z—2)?
(z+7)> (x+7)(x—T) 2z +7)(2z—17) | (x+8)? (x+1)(x —1)
(x4 8)(x —8) 2z +4)(2z —4) | (z —5)? (z — 4)? (z+1)?
(x+6)(x — 6) (x —9)2 2z +6)(22 —6) | (z+5)? (2z +5)(2x — 5)
(x4 9)(z—9) (x—7)> (z —1)2 (z+9)? (z +6)?
(x4+T7)(x—T) (x —5)? (v —2)? 2z +2)(2z —2) | (2z+8)(2z — 8)
(x —4)? (z +3)? (z —1)2 (z +5)(z — 5) (z+5)?

(z + 4)? (z +9)? (z +8)? (z — 6)* (z+8)(z —8)
2z +7)2z—17) | (v —8)* 2z +3)2x—3) | 2z +4)2z—4) | (z+6)(z—06)
(z +2)? (x+7)? 2z +5)2z—5) | Rz +92x—-9) | (z—-7)?
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(x4 1)(z—1) (x —17)? 2z +3)22—-3) | 22 +9(2z-9) | (z+2)?

(z +5)? (x —2)2 (x—1)2 (x+9)(x —9) 2z +7)(22 —7)
(22 +5)(2z —5) | (x+3)? (z +9)> (z +2)(xz —2) (z +4)>

(x —3)? (x —8)2 (z + 8)? (x —6)2 (2 + 8)(2z — 8)
(z — 4)? (x+7)? (2z4+4)2z—4) | (z-5)? (z +6)(x — 6)
(z+1)? (22 +6)(2x —6) | (z+9)(z—9) (x —4)2 (2z +4)(2z — 4)
(z +2)? (z + 3)* (x+2)(z — 2) (z +6)(x — 6) (22 + 3)(2z — 3)
(x4 8)(z — 8) (x+T7)(z—T7) (x —9)? 2z +2)(2x —2) | (22 +5)(2z —5)
(v — 8)? 2z +9)2z-9) | (z—6)? (z +5)(x — 5) (x4 5)?

(z +4)? (x+7)2 (x —5)2 2z +1)2z —1) | (z —2)?

(z — 8)? (z + 8)* 2z+1)(2z-1) | Cz+7)2z—-7) | (@+4)(z—4)
(z+7)> (z +2)? (2z+9)(2z-9) | (x+9)? (x+1)(x —1)
(z + 3)(x — 3) (z+5)(z —5) (z +5)? (z +1)? (z — 5)?

(2z +5)(2x —5) | (z—6)? (x —2)2 2z +4)(2x —4) | 22 +8)(2z —8)
(x —17)2 (z + 8)(z — 8) (v —4)? 2z +3)(2x —3) | (z+4)?

(z +3)2 (z +5)? r+1)(2z—-1) | (z+1)(z—-1) (2z +5)(2z — 5)
(z — 2)2 (z+7)(z—T7) Cr+7)2c—7) | (z—4)? (z — 6)2

(x4 4)(x — 4) (z + 8)* (x+9)? 2z +8)(2z —8) | 2z +4)(2z —4)
(z +2)? (x —8)2 (z +4)? (r —9)2 (x+9)(x—9)
(z+1)2 (x —5)2 (x4 3)(z — 3) (x4 8)(z — 8) (2z + 3)(2z — 3)
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(x —4)2 (x+7)(x—T7) (z +6)> (z + 8)? (v — 6)2

(z +8)(z —8) (z+2)? (z —2)? (z+9)(z—9) (z+4)(z—4)
(z +4)* (x —3)2 2z +5)(2z —5) | (z—5)? (2z + 3)(2z — 3)
(z +3)(z — 3) 2z +4)2z —4) | (z+7)? (z +9)* (22 +6)(2z — 6)
(z +5)? 2z +8)(2z —8) | (z+5)(z —5) (z +2)(z —2) (z+1)?

(z +6)? (z 4+ 6)(z — 6) (x+7)(x—7) (z —5)? (x+2)(z—2)
(z +4)(z — 4) (z + 3)? (z +9)? (22 +5)(2z —5) | (22 +6)(2z — 6)
(z +2)? (z —1)2 (z —9)? (z —8)2 (z+1)(z —1)
(z + 8)2 (z+1)? (2z+3)2z—3) | (x—7)? (v —2)2
r+7)R2x—-7) | 2z +9(2zx—-9) | (x-3)? (x +5)(z —5) (x+7)2

(z — 9)? (z + 1)2 (z + 6)>2 2z +8)22—8) | (z+2)(z—2)
(z —4)? (z+5)(z —5) (z+4)(x —4) (z+9)(xz —9) (z +3)?

(22 +6)(2x —6) | (z+8)(z—28) (v — 3)2 2z +4)(2z —4) | (v —8)?

e +7) 2z -7 | (z+9)? 2z +2)(22 —2) | (z+4)? (x —6)2

(r —2)2 (x+1)(z—1) 2r+1)(2x—-1) | (x+3)(z—3) (2z 4+ 9)(2x — 9)
e +1)2z—-1) | (z+1)(z—1) (z + 3)? (z + 5)? (2z +2)(2z — 2)
(22 +3)(2x—3) | (z—6)? (z +2)(z —2) (z+7)? (x — 1)

(2 +6)(22z —6) | (z+4)(z—4) (x —2)? (x4 9)(z —9) (x —5)?

(x — 8)2 (z +9)? 2z +9)(22 —9) | (z+6)? (x —9)?
QRr+702x—-17) | (x+3)(z—3) (x +6)(z — 6) (v —4)2 (x+7)(xz—7)
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(z + 8)? (x —5)2 (z + 3)? 2z +8)(2x —8) | (x —6)?
(22 +2)2x—-2) | (z4+9)(z—9) (z+6)(z —6) (x+8)(z —8) (z+1)?
(x —8)2 2z +9)(2z—9) | (z—7)? 2z +5)(2z —5) | (22 + 3)(2x — 3)
(z +5)* (x+2)(x —2) (x4 3)(x —3) (x — 3)2 (r —2)2
(z+7)? (z +9)? (z +5)(x — 5) r+1)(2z—-1) | (2z+6)(2z —6)

2z +2)(2x —2) | (z—1)2 (22 +9)(2z-9) | (x —6)> (z+1)?

2z +3)22-3) | (@+5)(x-5) (z+7)(z—7) Qz+7)2z -7 | (z+9)(x—9)

2z +8)(2z —8) | (v —9)? (z +2)? (z — 3)? (22 +4)(2z — 4)

(z — 8)2 (z +8)? 2z4+1)2z-1) | (z+9)? (z + 3)?

(x4 1)(zx —1) (x4 4)(z — 4) (x+7)2 (22 +6)(22z —6) | (z+3)(z—3)

(r —9)? (x +5)(x —5) (z +2)? (r —6)2 (z + 3)?

(z — 8)? 2z +2)22—-2) | (z+1)(z-1) (z +9)(x —9) (v — 3)2

(z +8)? 2z +3)(2z —3) | (z—5)? 2z +6)2z—6) | (z+7)(z—7)

(z +4)* (x — 4)? (z +5)? 2z +1)(2z—1) | (v —2)?

(x4 7)> (z+9)? (z+1)? (z + 6)(x — 6) (z+4)(z —4)

2z +9)22z—-9) | (z+9)(z—9) (z +4)? 2z +6)2z—6) | (z+7)(z—7)

(z + 8)(z — 8) (2z+3)(2z —3) | (v +2)? (2z+1)(2z—-1) | (22 +5)(2z —5)

(z +3)? (z+9)? (z — 8)? (z —6)> (x+4)(z—4)

(z +5)(xz — 5) (x —7)? (z —5)? (z +8)? (z+2)(z—2)

2z +4)(2z —4) | (z—9)? (x4 1)(z—1) 2z +7)2z—-17) | (z—1)2




